
Equation for estimating mortality with APACHE-IICCP, APACHE-II, SAPS-3 and SPAS-3CSA models.
APACHE II score for critically ill patients with a solid tumor (APACHE-IICCP)
Logit = -5.535 +0.094 * Component 1 + 0.93 * Component 2
Acute Physiology and Chronic Health Evaluation II (APACHE-II)
Logit = -3.517 + 0.146 * APACHE II
Simplified Acute Physiology Score 3 (SAPS-3)
Logit = -32.6659 + 7.3068 * Ln (SAPS 3 + 20.5958)
Simplified Acute Physiology Score 3 for Central and South American countries (SAPS-3CSA)

LogitCSA = -64.5990 + 13.2322 * Ln (SAPS 3 + 71.0599)
Estimated risk of mortality (equation of logistic regression) = elogit / (1 + elogit).[image: image1.png]



